Условие задачи:
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Текст программы:

#include <iostream>

#include <cmath>

#include <iomanip>

#include <conio.h>

using namespace std;

void FPR(double x, double *y);

void OUT(double x, double *y);

double f[2],y[2];

double a=1, b=3, x, h, h1;

int nx=20,np=1,ny=2; 

int main()

{


h=(b-a)/nx;


x=a;


y[0]=2*x;


y[1]=exp(x);


if (np!=0)



OUT(x,y);


else



np=nx+1;


for(int n=1;n<=nx;n++)


{



FPR(x,y);



for(int i=0;i<ny;i++)




y[i]+=h*f[i];



x+=h;



if(n%np==0)




OUT(x,y);


}


_getch();


return 0;

}

void FPR(double x, double *y)

{


f[0] = (y[0]/x)-(y[1]/exp(x))+1;


f[1] = y[0]/(2*x)+y[1]-1;

}

void OUT(double x, double *y)

{

cout <<"x ="<<setw(5)<<x<<"\t"<<"y1 =" << setw(10)<<y[0]<<"\t"<<"u1 ="<< setw(8)<<2*x<<"\t"<<"d1 ="<< setw(10)<<2*x-y[0]<<endl

<< setw(7)<<"\t\t"<<"y2 ="<< setw(10)<<y[1]<<"\t"<<"u2 ="<< setw(8)<<exp(x)<<"\t"<<"d2 =" << setw(10)<<exp(x)-y[1]<<endl<<endl;

}
Результат  работы программы: 
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